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POLYNOMIAL

1. Draw the graph of the polynomial

f(z) = 2z* — 4z + 5.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JV7NyhqBVyY2

° Watch Video Solution

2. If o and B are the zeros of the quadratic

polynomial f(z) = z* 4+ 2 — 2, find the value

1 1
of — — —

a f

° Watch Video Solution

3. Find a quadratic polynomial whose zeros are
reciprocals of the zero of the polynomial

f(z) = az® +bx +c,a #0,c#0.

| = 1


https://dl.doubtnut.com/l/_JV7NyhqBVyY2
https://dl.doubtnut.com/l/_rSXicIpXBron
https://dl.doubtnut.com/l/_h5OLpLRFgads

I &9 Watch Video Solution I

4. If a and B are the zeros of the quadratic
polynomial f(z) =z* —2z —2, find a
polynomial whose zeros are

2ac + 1 and 28 + 1.

o Watch Video Solution

5. Draw a graph of the equations: 3x — 2y = 4

andz +y—3=0

l o Watch Video Solution


https://dl.doubtnut.com/l/_h5OLpLRFgads
https://dl.doubtnut.com/l/_8aq6ya4lJNVV
https://dl.doubtnut.com/l/_n2VQxoxf25TW

6. If o and B are the zeros of the polynomial

f(z) = 2z + bz + k satisfying the relation
21

o’ + B2+ af = e , then find the value of k&

for this to be possible.

o Watch Video Solution

7. If a and B are the zeros of the quadratic
polynomial f(x) = kx® + 4z + 4 such that

a’ + B? = 24, find the value of k-



https://dl.doubtnut.com/l/_n2VQxoxf25TW
https://dl.doubtnut.com/l/_YSnnUQWJp4Ed
https://dl.doubtnut.com/l/_YCjHPYavQUut

o Watch Video Solution

8. If a and B ar the zeros of the polynomial
f(z) = 2* — 5z + k such that a — 8 =1,

find the value of k-

B.6

C.5

Answer: B


https://dl.doubtnut.com/l/_YCjHPYavQUut
https://dl.doubtnut.com/l/_w928a9XnwLiS

° Watch Video Solution

9. If aandf are the zeros of the quadratic
polynomial  f(z) = az® + bx +¢, then

evaluate: o**

° Watch Video Solution

10. If aandf are the zeros of the quadratic

polynomial  f(z) = az® + bx + ¢, then


https://dl.doubtnut.com/l/_w928a9XnwLiS
https://dl.doubtnut.com/l/_2ThqKadROuBq
https://dl.doubtnut.com/l/_EzG4ogh5z8XV

B i o 4 g3
o

evaluate: o’ +ﬂ2 (i) %+
2

1 1 o’ B

° Watch Video Solution

1. If caandpB are the zeros of the quadratic

polynomial f(z) = z®> — px + ¢, then find

1 1
the values of (i)a® + B (i) — + —
a B

o Watch Video Solution



https://dl.doubtnut.com/l/_EzG4ogh5z8XV
https://dl.doubtnut.com/l/_m3v8kktAJrvZ

12. If f(z) is a polynomial such that
f(a)f(b) < 0, then what is the number of

zeros lying between @ and b 7

o Watch Video Solution

13. For what value of k, is 3 a zero fo the

polynomial 2z* + = + k?

° Watch Video Solution



https://dl.doubtnut.com/l/_Mfxx90cr112L
https://dl.doubtnut.com/l/_3cjhHPQiiDEt

14. If  zeros of  the polynomial
f(z) = z° — 3pz® + gz — r are in AP, then
(@) 20’ =pg—r (b) 2P =pg+r (0

p3 = pq — r (d) None of these

o Watch Video Solution

15. If az®?+bx +c=0,a,b,c € R has no
real zeros, and if ¢ < 0 , then which of the

following is true?

A. a<0


https://dl.doubtnut.com/l/_UWYo9Ks8caMe
https://dl.doubtnut.com/l/_HrUFS2jDjoCM

B.a>0

C.a+b+c <0

D.a=0

Answer: null

o Watch Video Solution

16.  What must be added to
f(z) = 4z* + 223 — 22% + & — 1 so that the
resulting  polynomial is  divisible by

g(z) = z* + 22 — 3.


https://dl.doubtnut.com/l/_HrUFS2jDjoCM
https://dl.doubtnut.com/l/_3wZtJpawJoVo

° Watch Video Solution

17. Find the values of a and b so that
x? + 2% + 8z +ax+b is divisible by

z? — 1.

° Watch Video Solution

18. Find all zeros of the polynomial
2z + Tx® — 1922 — 14z + 30, if two of its

zeros are /2 and — /2.

| e |


https://dl.doubtnut.com/l/_3wZtJpawJoVo
https://dl.doubtnut.com/l/_QJsXrIrRyE9L
https://dl.doubtnut.com/l/_QifPmhGWLzX0

& Wwatch Video Solution I

19. If the polynomial
6z* + 82> + 17x* + 21z + 7 is divided by
another polynomial 3z% + 4z + 1, the

remainder comes out to be ax + b, find a and

b.

° Watch Video Solution

20. If a, B, are the zeros of the polynomial

f(z) = z° —px* 4+ qx — 1, then


https://dl.doubtnut.com/l/_QifPmhGWLzX0
https://dl.doubtnut.com/l/_dsQSooTc2yH1
https://dl.doubtnut.com/l/_Os4t5rR9NY9N

° Watch Video Solution

21. If a, B are the zeros of the polynomial

1 1
f(z) = az® + bz + ¢, then — + 5=
b’ — 2ac b’ — 2ac b2 + 2ac
2 (b) —2 (C) 2
b’ + 2ac
2

° Watch Video Solution



https://dl.doubtnut.com/l/_Os4t5rR9NY9N
https://dl.doubtnut.com/l/_3dsIkL5FknJt

22. If a, B are the zeros of the polynomial

f(r) =ax®+bxr+c, then m m m

1 1 b2 — 2ac b2 — 2ac
2 + 3 = (a) 22 (b) 2 (c)
b? + 2ac b? + 2ac
2 (d) 2
a C

° Watch Video Solution

23. Divide the polynomial

f(z) = 32> — 2> — 3z + 5 by the polynomial

2

g(x) =x —1—2° and verify the division

algorithm.

| e |


https://dl.doubtnut.com/l/_LP2trIpKVnfb
https://dl.doubtnut.com/l/_3oRvtT4fu1rl

& Watch Video Solution I

24. Draw the graph of the polynomial
f(x) = 2z — 5. Also, find the coordinates of

the point where it crosses x-axis

° Watch Video Solution

25. Draw the graph of the polynomial

f(z) =2> -2z — 8

o Watch Video Solution



https://dl.doubtnut.com/l/_3oRvtT4fu1rl
https://dl.doubtnut.com/l/_epiEp1dCKy65
https://dl.doubtnut.com/l/_8AXp1Omp3wnV

26. Draw the graph of the quadratic

polynomial f(z) = 3 — 2z — z°

° Watch Video Solution

27.If o and B are the zeros of the polynomial

f(z) =z®> +pzr+q, form a polynomial
poly

whose zeros are (a 4 8)* and (o — 8)°.

° Watch Video Solution



https://dl.doubtnut.com/l/_cyxKF0GL4Dhy
https://dl.doubtnut.com/l/_iHUwlBm9cDZE

28. Draw the graph of the polynomial
f(z) = — 42® + 42 — 1. Also find the vertex

of this parabola.

o Watch Video Solution

29. If the sum of the zeros of the quadratic
polynomial f(t) = kt* + 2t + 3k is equal to

their product, find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_FdliuATnmWwt
https://dl.doubtnut.com/l/_ENOw4MV0WJrN
https://dl.doubtnut.com/l/_g6VySdrYHcKu

30. Draw the graph of the polynomial

f(z) = —3z* 4+ 2z — 1.

° Watch Video Solution

31. Find the zeros of the quadratic polynomial
z? + 7 + 12, and verify the relation

between the zeros and its coefficients.

° Watch Video Solution



https://dl.doubtnut.com/l/_g6VySdrYHcKu
https://dl.doubtnut.com/l/_W2zNYSej9Q3F

32. Find the zeros of polynomial
f(z) = 432> + 52 — 2¢/3; and  verify

relation between zeros and its coefficient.

o Watch Video Solution

33. If aandf are the zeros of the quadratic

polynomial f(z) = 2* — pz 4 ¢, prove that

G:2 ﬂ 2 p4 4p2

o Watch Video Solution



https://dl.doubtnut.com/l/_CDYzssOrVHtM
https://dl.doubtnut.com/l/_I6qBN82Jc7Sy
https://dl.doubtnut.com/l/_Q2KZ0MprCdkn

34. Obtain all the zeros of the polynomial

f(z) = 3z* + 62> — 222 — 10z — 5, if two of

it > d >
S zeros are 4/ — an — =
its z 3 3

° Watch Video Solution

35. What must be subtracted from
8z + 142 — 22> + 7Tx — 8 so that the

resulting polynomial is exactly divisible by

dz® + 3z — 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q2KZ0MprCdkn
https://dl.doubtnut.com/l/_72RUgkK6at1Y

36. By applying division algorithm prove that
the polynomial g(z) = z* + 3z + 1is a factor
of the polynomial

f(z) = 3z* + 52° — 7z + 22 + 2.

° Watch Video Solution

37. Find the condition that the zeroes of the
polynomial f(z) = z°—pz® + gz — r may be

in arithmetic progression.

° Watch Video Solution



https://dl.doubtnut.com/l/_f4Q2m1bqblKi
https://dl.doubtnut.com/l/_5wijbN2heoxx

38. Find the =zeros of the polynomial
f(z) = x° — 5z® — 2z + 24, if it is given

that the product of its two zeros is 12.

o Watch Video Solution

39. Draw the graph of the polynomial

f(z) = z* — 6z + 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_5wijbN2heoxx
https://dl.doubtnut.com/l/_DZby76v4VlYd
https://dl.doubtnut.com/l/_owvt9XiCCkF6
https://dl.doubtnut.com/l/_TJPcFbaC28jr

40. If o and B are the zeros of the quadratic
polynomial f(z) =z* -2z +3, find a

polynomial whose roots area + 2, 8 + 2.

o Watch Video Solution

41. Draw the graph of the polynomial

flz) = z° — 4o .

° Watch Video Solution



https://dl.doubtnut.com/l/_TJPcFbaC28jr
https://dl.doubtnut.com/l/_xNeT22ps3QUX

42. Draw the graph of the cubic polynomial

f(z) = 2% — 22%.

o Watch Video Solution

43. Draw the graph of the polynomial

f(z) = 2°.

o Watch Video Solution



https://dl.doubtnut.com/l/_lYwDPfF5xr2v
https://dl.doubtnut.com/l/_b4YTu8eiEMmG

44. If each one of the following graphs is the
graph of a polynomial, then identify which one
corresponds to a linear polynomial and which
one corresponds to a quadratic polynomial?

(FIGURE)

o Watch Video Solution

45.The graphs of y = az?® + bz + c are given

in Fig. Identify the signs of a, b and c in each


https://dl.doubtnut.com/l/_0RLuBZBBFa7v
https://dl.doubtnut.com/l/_gl13ZEbcyqiM

of the following: (FIGURE)

o Watch Video Solution

46. Find the zeros of the quadratic polynomial
f(z) = 6z® — 3, and verify the relation-ship

between the zeros and its coefficients:

o Watch Video Solution



https://dl.doubtnut.com/l/_gl13ZEbcyqiM
https://dl.doubtnut.com/l/_JeqwiAjED8jg

47. Find the zeros of the polynomial
f(u) = 4u® + 8u , and verify the relationship

between the zeros and its coefficients.

o Watch Video Solution

48. Find a quadratic polynomial each with the

given numbers as the sum and product of its

zeros respectively (i) 1 1 (i) /2, 1 (iii)

4’ 3
0, /5

° Watch Video Solution



https://dl.doubtnut.com/l/_iU06ok4xAquK
https://dl.doubtnut.com/l/_p5mCrh5vLaYA

49, If a and [ are the zeros of the quadratic
polynomial f(z) =2z* — 52+ 7 , find a
polynomial whose zeros are 2a + 38 and

3o + 28.

o Watch Video Solution

50. If o and B are the zeros of the quadratic

polynomial f(z) =3z —42+1 , find a

a2

quadratic polynomial whose zeros are 7 and
132

o


https://dl.doubtnut.com/l/_p5mCrh5vLaYA
https://dl.doubtnut.com/l/_iOybYEJ7bMDm
https://dl.doubtnut.com/l/_AghN0h8H7Wx5

° Watch Video Solution

51. Find the zeros of polynomial
f(x) =2>—2z —8 and  verify the
relationship between the zeros and their

coefficients:

o Watch Video Solution

52. Find the zeros of polynomial

g(s) =4s> —4s+1 and  verify  the


https://dl.doubtnut.com/l/_AghN0h8H7Wx5
https://dl.doubtnut.com/l/_Tgos5xLkvziH
https://dl.doubtnut.com/l/_1wXf4WoOrrQh

relationship between the zeros and their

coefficients:

° Watch Video Solution

53. Find the zeros of polynomial
h(t) = t* — 15 and verify the relationship

between the zeros and their coefficients:

° Watch Video Solution



https://dl.doubtnut.com/l/_1wXf4WoOrrQh
https://dl.doubtnut.com/l/_1ebeVA0IWpav

54.Find the zeros of polynomial 6z% — 3 — 7z
and verify the relationship between the zeros

and their coefficients:

o Watch Video Solution

55. Find the zeros of polynomial
p(zr) =2 +2y/22x —6 and verify the
relationship between the zeros and their

coefficients:

° Watch Video Solution



https://dl.doubtnut.com/l/_lUjphIjxivoe
https://dl.doubtnut.com/l/_fPcf4IVz9lOC

56. Find the zeros of polynomial
q(z) = \/3z® + 10z + 7,/3 and verify the
relationship between the zeros and their

coefficients:

o Watch Video Solution

57. Find the zeros of polynomial
f(z) = z* — (\/3+ 1)z + /3 and verify the
relationship between the zeros and their

coefficients:


https://dl.doubtnut.com/l/_fPcf4IVz9lOC
https://dl.doubtnut.com/l/_nR9ipuvFcZDq
https://dl.doubtnut.com/l/_MqA96EwY4XGM

° Watch Video Solution

58. Find the zeros of polynomial
g(z) = a(z® + 1) — z(a® + 1) and verify the
relationship between the zeros and their

coefficients:

o Watch Video Solution

59. If a and [ are the zeros of the quadratic

polynomial p(z) = 42*> — 5z — 1 , find the


https://dl.doubtnut.com/l/_MqA96EwY4XGM
https://dl.doubtnut.com/l/_hBERWCzdQZUR
https://dl.doubtnut.com/l/_m4b1YTc2KpQZ

value of &?8 + af?.

o Watch Video Solution

60. If o and (3 are the zeros of the quadratic
polynomial f(t) = t* — 4t + 3, find the value

of a4[33 + a3ﬂ4 )

o Watch Video Solution

61. If « and (3 are the zeros of the quadratic

polynomial p(y) = 5y> — Ty +1 , find the


https://dl.doubtnut.com/l/_m4b1YTc2KpQZ
https://dl.doubtnut.com/l/_HE84ZGYT4K68
https://dl.doubtnut.com/l/_Gf12reVkuJoM

value of — + — .

a B

o Watch Video Solution

62. If o and B are the zeros of the quadratic

2 _ x — 4, find the value

polynomial f(z) = «
‘ 1 N 1 3
of — 3 af .

° Watch Video Solution

63. If a and 3 are the zeros of the quadratic

polynomial f(z) = 62>+ 2 —2 , find the


https://dl.doubtnut.com/l/_Gf12reVkuJoM
https://dl.doubtnut.com/l/_wA7OoAUhFhmW
https://dl.doubtnut.com/l/_KHIPEkHILOeU

B

Qo
value of — + — .
o

N
12

. — 25
Sl

c — 25
C 12

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KHIPEkHILOeU

64. If a and (8 are the zeros of the quadratic

polynomial p(s) = 3s* —6s +4 , find the

veof &+ 2 4 o( L4 1) 4 sag
VaUGOE E E E ap .

° Watch Video Solution

65. If one zero of the quadratic polynomial
f(z) = 42> — 8kz — 9 is negative of the

other, find the value of k.

° Watch Video Solution



https://dl.doubtnut.com/l/_UTisScVzNZMb
https://dl.doubtnut.com/l/_6oWItw5eS6U5
https://dl.doubtnut.com/l/_Lfhde7CaoP5n

66. If the squared difference of the zeros of
the quadratic polynomial
f(z) = z* 4 px + 45 is equal to 144, find the

value of p.

o Watch Video Solution

67. If o and (B are the zeros of the quadratic
polynomial f(z) = z* — p(xz + 1) — ¢, show

that (@ +1)(B+1) =1—c.

o Watch Video Solution



https://dl.doubtnut.com/l/_Lfhde7CaoP5n
https://dl.doubtnut.com/l/_Wp0wtYu835mf

68. If a and (8 are the zeros of a quadratic
polynomial such that a+ 8 =24 and
a— B =8 , find a quadratic polynomial

having a and 3 as its zeros.

° Watch Video Solution

69. If a and B are the zeros of the quadratic

polynomial f(z) = z?> — 1, find a quadratic

2c 2ﬂ
polynomial whose zeros are — and —
o

° Watch Video Solution



https://dl.doubtnut.com/l/_GRq4HEAREnzt
https://dl.doubtnut.com/l/_jqNy4YfrO0Wu

70. If o and B are the zeros of the quadratic
polynomial f(z) =z* -3z —2 , find a

quadratic polynomial whose zeros are

1 q 1
an :
20 + B 28 + «

o Watch Video Solution

71. If a and B are the zeros of the quadratic

polynomial  f(z) = az* +bx +c , then

evaluate: (i) a— 8 (i) i—i (iii)
a p

1 1 5

P


https://dl.doubtnut.com/l/_jqNy4YfrO0Wu
https://dl.doubtnut.com/l/_leqVGSz0tVop
https://dl.doubtnut.com/l/_8yE9lZgcahbj

° Watch Video Solution

72. If o and 3 are the zeros of the quadratic
polynomial f(z) = az®+bx +c , then

evaluate: (i) o?B8+ aB? (i) a*+ B* (i)
1 1
ac + b i af + b

o Watch Video Solution

73. If o and (8 are the zeros of the quadratic

polynomial  f(z) = az* + bz +c¢ , then
y


https://dl.doubtnut.com/l/_8yE9lZgcahbj
https://dl.doubtnut.com/l/_c5M42dVwyrGs
https://dl.doubtnut.com/l/_CaWHL96X7Fuy

B o

evaluate: (i) P + B b (i)

a? B2 a B
a(wa)“(w;)

o Watch Video Solution

74. Verify that 3, — 1 and —% are the zeros
of the cubic polynomial
p(z) = 3z® — 5z® — 11z — 3 and then verify
the relationship between the zeros and its

coefficients.

o Watch Video Solution



https://dl.doubtnut.com/l/_CaWHL96X7Fuy
https://dl.doubtnut.com/l/_yTz0iIMTRn7t
https://dl.doubtnut.com/l/_0eWGAGqUBsWb

75.Find a cubic polynomial with the sum, sum
of the products of its zeros taken two at a
time, and product of its zeros as

2, — 7, — ldrespectively.

° Watch Video Solution

76. Find the condition which must be satisfied
by the coefficients of the polynomial
f(z) = 2> — pz® + qx — r when the sum of

its two zeros is zero.

| €8 |


https://dl.doubtnut.com/l/_0eWGAGqUBsWb
https://dl.doubtnut.com/l/_616gUDsPPL5A

| ¥ Watch Video Solution J

77. If the two zeros of polynomial
f(z) = 2> — 42® — 3z + 12are v/3and —+/3

: then find its third zero.

o Watch Video Solution

78. Find the zeros of the polynomial
f(z) = z° — 5z* — 16z + 80, if its two zeros

are equal in magnitude but opposite in sign.

o Watch Video Solution



https://dl.doubtnut.com/l/_616gUDsPPL5A
https://dl.doubtnut.com/l/_f2ieh0d8Nysj
https://dl.doubtnut.com/l/_wqDAmdedfE45

79. Find the zeros of the

polynomial

f(z) = z° — 122® + 39z — 28 , if it is given

that the zeros are in A.P.

o Watch Video Solution

80. If the zeros of the
flx) =2° — 32> +z +1

a—b, a, a+b, findaandb.

polynomial

are

o Watch Video Solution



https://dl.doubtnut.com/l/_wqDAmdedfE45
https://dl.doubtnut.com/l/_DFQf6BCXLH4N
https://dl.doubtnut.com/l/_nm2nkbcgMmrL

81. Verify that the numbers given along side of

the cubic polynomial

1

f(z) = 22° + z* — bz + 2; 5> L —2are
its zeros. Also, verify the relationship between

the zeros and coefficients.

o Watch Video Solution

82. Verify that the numbers given along side of
the cubic polynomial

g(z) =2 —42* + 52 —2; 2, 1, lareits


https://dl.doubtnut.com/l/_nm2nkbcgMmrL
https://dl.doubtnut.com/l/_lOoNN7mOIq9r
https://dl.doubtnut.com/l/_P4ZZMPzOpB5V

zeros. Also, verify the relationship between the

zeros and coefficients.

° Watch Video Solution

83. Find a cubic polynomial with the sum, sum
of the product of its zeros taken two at a time,
and product of its zeros as 3, — 1 and —3

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_P4ZZMPzOpB5V
https://dl.doubtnut.com/l/_IEnIeGhG48Nv

84. If the zeros of the polynomial
f(z) = 22° — 152* + 37z — 30 are in AP,

find them.

o Watch Video Solution

85. Find the condition that the zeros of the
polynomial f(z) = z* + 3pz® + 3¢z + r may

be in A.P.

o Watch Video Solution



https://dl.doubtnut.com/l/_sZpT7uHvDv2B
https://dl.doubtnut.com/l/_wwSMzLMTHVQI
https://dl.doubtnut.com/l/_sXBnPmB4vqtb

86. If the zeros of the polynomial
f(z) = az® +3bz* + 3cx +d are in AP,

prove that 26> — 3abc + a’d = 0.

o Watch Video Solution

87. If the zeros of the polynomial
f(z) = 2> — 122* 4 39z + k are in AP, find

the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_sXBnPmB4vqtb
https://dl.doubtnut.com/l/_z4rmMXbYgSD4
https://dl.doubtnut.com/l/_akKMoateqgIH

88. Divide the polynomial
f(z) = 142 — 5> + 9z — 1 by  the
polynomial g(z) =2x — 1 . Also, find the

quotient and remainder.

° Watch Video Solution

89. Divide the polynomial
f(z) = 62° 4 112> — 39z — 65 by the poly-
nomial g(z) =z* — 1+ . Also, find the

quotient and remainder.

o Watch Video Solution



https://dl.doubtnut.com/l/_akKMoateqgIH
https://dl.doubtnut.com/l/_rmK9tjcQYCCo

90. Divide the polynomial
u(z) = 9z* — 42> +4 by the poly-nomial
v(z) = 32>+ — 1. Also, find the quotient

and remainder.

o Watch Video Solution

o1. Divide the polynomial
f(z) = 30z* + 112° — 822% — 12z + 48 by
3z> +2x — 4 . Also, find the quotient and

remainder.


https://dl.doubtnut.com/l/_rmK9tjcQYCCo
https://dl.doubtnut.com/l/_Rd1mGHcUXgWq
https://dl.doubtnut.com/l/_gawHeO7ucJSS

° Watch Video Solution

92. Apply the division algorithm to find the
quotient and remainder on dividing

f(z) = z° — 62> + 11z — 6by g(z) = = + 2

° Watch Video Solution

93. Apply the division algorithm to find the
quotient and remainder on dividing

f(z) = 2> — 32> + bz — 3byg(z) = z* — 2

| |


https://dl.doubtnut.com/l/_gawHeO7ucJSS
https://dl.doubtnut.com/l/_yhngsvVtrJYP
https://dl.doubtnut.com/l/_9INnKX2o5Rjt

& Wwatch Video Solution I

94. Apply the division algorithm to find the
quotient and remainder on dividing
f(z) = z* — 32® + 42 + 5 by

glz) =2 +1—=z

o Watch Video Solution

95. Apply the division algorithm to find the
quotient and remainder on dividing

f(z) = z* — 5z + 6byg(z) = 2 — z*


https://dl.doubtnut.com/l/_9INnKX2o5Rjt
https://dl.doubtnut.com/l/_DO0MaWjBsgeq
https://dl.doubtnut.com/l/_iGQyCelmPatD

° Watch Video Solution

96. Find all the zeros of the polynomial
f(z) = 2z* — 32> — 32 + 62 — 2, if two of

its zeros are v/2 and — /2.

° Watch Video Solution

97. If two zeros of the polynomial
f(z) = z* — 62> — 262> + 138z — 35  are

2 + /3, find other zeros.

| e |


https://dl.doubtnut.com/l/_iGQyCelmPatD
https://dl.doubtnut.com/l/_lYYLFyzu4Zcu
https://dl.doubtnut.com/l/_RF7lsZyZkMDW

& Watch Video Solution I

8. On dividing the polynomial
f(x) =x*> — 32>+ 2 +2 by a polynomial
g(zx) , the quotient g(x) and remainder 7(z)
where ¢(z) =2 —2 and r(z) = — 2z + 4

respectively. Find the polynomial g(z) .

o Watch Video Solution

99. If the polynomial

f(z) = z* — 62> + 162> — 25z + 10 is


https://dl.doubtnut.com/l/_RF7lsZyZkMDW
https://dl.doubtnut.com/l/_e47MJ4Aqfp4k
https://dl.doubtnut.com/l/_HiOVkAjhyrCl

divided by another polynomial z* — 2z + k ,
the remainder comes out to be z + a , find k

and a .

o Watch Video Solution

100. Apply division algorithm to find the
quotient ¢(z) and remainder r(x) on dividing
f(z) = 2® — 62% + 11z — 6 by

glz) =24+ +1

° Watch Video Solution



https://dl.doubtnut.com/l/_HiOVkAjhyrCl
https://dl.doubtnut.com/l/_FerEAvRQD8Rb
https://dl.doubtnut.com/l/_rzfMnZbzH4Oy

101. Apply division algorithm to find the
quotient g(x) and remainder r(x) on dividing
f(z) = 10z* + 172° — 622% + 30z —3 by

glz) =2z° + Tz + 1

° Watch Video Solution

102. Apply division algorithm to find the
quotient ¢(z) and remainder r(x) on dividing
f(z) = 4> + 8z + 82> + 7 by

g(z) =22 — 2 + 1

l ° Watch Video Solution


https://dl.doubtnut.com/l/_rzfMnZbzH4Oy
https://dl.doubtnut.com/l/_luJWAMroYzh0

103. Apply division algorithm to find the
quotient g(x) and remainder r(z) on dividing
f(z) = 152% — 202% + 13z — 12 by

g(z) =2 — 2z + z°

° Watch Video Solution

104. Check whether g(t) = t* — 3is a factor of
f(t) = 2t* + 3t3 — 2t — 9t — 12 by applying

the division algorithm.



https://dl.doubtnut.com/l/_luJWAMroYzh0
https://dl.doubtnut.com/l/_hkWYeR3HA6bb
https://dl.doubtnut.com/l/_dRUKKBD42mQq

Watch Video Solution

105. Check whether g(z) = z® — 3z 4+ 1 is a
factor of f(z) = 2° — 42° + z° + 3z + 1 by

applying the division algorithm.

o Watch Video Solution

106. Check whether g(z) = 2z* —z + 3 is a

factor of
f(z) =62° —z* +42° — 52> —x — 15 by

applying the division algorithm.


https://dl.doubtnut.com/l/_dRUKKBD42mQq
https://dl.doubtnut.com/l/_RVBI5btM7My4
https://dl.doubtnut.com/l/_k19zR3VcbaEk

° Watch Video Solution

107. Obtain all zeros of the polynomial
f(z) = 2z* + 2* — 142* — 192 — 6, if two of

its zeros are —2and — 1.

° Watch Video Solution

108. Obtain all zeros of
f(z) = «* + 1322 + 32z + 20 , if one of its

zerosis —2.

| e |


https://dl.doubtnut.com/l/_k19zR3VcbaEk
https://dl.doubtnut.com/l/_te61dGX4BjyI
https://dl.doubtnut.com/l/_LXTgRgtaLg4u

& Watch Video Solution I

109. Obtain all zeros of the polynomial
f(z) = z* — 32° — 2> + 92 — 6, if two of its

zeros are —+/3 and /3.

° Watch Video Solution

110. Obtain all zeros of the polynomial

f(z) = 2z* — 22 — 72® + 3z + 6, if its two

3 g 3
zeros are 5 an 5 -

l ﬂ Watch Video Solution l



https://dl.doubtnut.com/l/_LXTgRgtaLg4u
https://dl.doubtnut.com/l/_2k4sIfu0CAkC
https://dl.doubtnut.com/l/_oai4pSoiWjFq

111. What must be added to the polynomial
fz) = z* +22° — 22 + £ — 1 so that the
resulting polynomial is exactly divisible by

2+ 22 — 37

° Watch Video Solution

112. What must be subtracted from the
polynomial

f(z) = z* 4+ 223 — 132> — 12z + 21 so that


https://dl.doubtnut.com/l/_oai4pSoiWjFq
https://dl.doubtnut.com/l/_GL6e03NxPLmS
https://dl.doubtnut.com/l/_lrNaYhvjC29v

the resulting polynomial is exactly divisible by

zt —4x + 37

° Watch Video Solution

13. Find all zeros of the polynomial
f(z) = z* + 23 — 342® — 4z + 120, if two of

its zeros are 2 and — 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_lrNaYhvjC29v
https://dl.doubtnut.com/l/_PkFPKYgU7CPw

4. Find all zeros of the polynomial
f(z) = 2z + z* — 6z — 3, if two of its zeros

are —y/3and /3.

o Watch Video Solution

15. Find all zeros of the polynomial
f(z) = z° + 32> — 2z — 6, if two of its zeros

are —+/2 and /2.

o Watch Video Solution



https://dl.doubtnut.com/l/_ESGd7rgrKOay
https://dl.doubtnut.com/l/_ZThrBGNmqsGP
https://dl.doubtnut.com/l/_YbSHKnWVEqBc

116. Define a polynomial with real coefficients.

o Watch Video Solution

117. Define degree of a polynomial.

o Watch Video Solution

118. Write the standard form of a linear

polynomial with real coefficients.

o Watch Video Solution



https://dl.doubtnut.com/l/_YbSHKnWVEqBc
https://dl.doubtnut.com/l/_89w5W6DIjveD
https://dl.doubtnut.com/l/_fBOQq7kasND0

119. Write the standard form of a quadratic

polynomial with real coefficients.

o Watch Video Solution

120. Write the standard form of a cubic

polynomial with real coefficients.

° Watch Video Solution



https://dl.doubtnut.com/l/_fBOQq7kasND0
https://dl.doubtnut.com/l/_j2Qm23jeWJjp
https://dl.doubtnut.com/l/_bYEJd4MrVMiq

121. Define value of a polynomial at a point.

o Watch Video Solution

122. Define zero of a polynomial.

o Watch Video Solution

123. The sum and product of the zeros of a

1

quadratic polynomial are 3 and —3

respectively. What is the quadratic polynomial.



https://dl.doubtnut.com/l/_zyfWuqtbCDQO
https://dl.doubtnut.com/l/_GqcXxT7PS3vY
https://dl.doubtnut.com/l/_d9MRHVAdi5OB

o Watch Video Solution

124. find a quadratic polynomial each with
given numbers as the sum and product of its

zeroes 1/41.

o Watch Video Solution

125. If the product of zeros of the quadratic
polynomial f(z) = z* — 4z + k is 3, find the

value of k.

| & I


https://dl.doubtnut.com/l/_d9MRHVAdi5OB
https://dl.doubtnut.com/l/_2k3d4QNbizMJ
https://dl.doubtnut.com/l/_HBWjH8nATNDC

| ¥ Watch Video Solution |

126. If the sum of the zeros of the quadratic
polynomial f(z) = kz* — 3z +5 is 1, write

the value of k.

o Watch Video Solution

127.In Fig. 217, the graph of a polynomial p(z)

is given. Find the zeros of the polynomial.


https://dl.doubtnut.com/l/_HBWjH8nATNDC
https://dl.doubtnut.com/l/_tjvX6LckFPFY
https://dl.doubtnut.com/l/_m54bDYSlh6hZ

(FIGURE)
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o Watch Video Solution

128. The graph of a polynomial y = f(z) ,

shown in Fig. 218. Find the number of real



https://dl.doubtnut.com/l/_m54bDYSlh6hZ
https://dl.doubtnut.com/l/_pytKgAnGaiIn

zeros of f(x) . (FIGURE)

o Watch Video Solution

129. The graph of the polynomial
f(z) = ax® + bz + c is as shown below (Fig.
219). Write the signs of ’a’ and b* — 4ac .

FIGURE

° Watch Video Solution



https://dl.doubtnut.com/l/_pytKgAnGaiIn
https://dl.doubtnut.com/l/_Nm5ifEoMDdzI

130. The graph of the polynomial
f(z) = az® + bx + cis as shown in Fig. 2.20.
Write the value of b* — 4ac and the number of

real zeros of f(z) . (FIGURE)

° Watch Video Solution

131.In Q. No. 14, write the sign of c.

° Watch Video Solution



https://dl.doubtnut.com/l/_FZVQPQlPKfuc
https://dl.doubtnut.com/l/_YhnSqN0vgSem

132.In Q. No. 15, write the sign of c.

o Watch Video Solution

133. The graph of a polynomial f(z) is as
shown in Fig. 2.21. Write the number of real

zeros of f(x) . (FIGURE)

o Watch Video Solution



https://dl.doubtnut.com/l/_lqgbyz3Jf9hg
https://dl.doubtnut.com/l/_3Y5di4E8gUCy

134. If x =1 is a zero of the polynomial
f(z) = 2° — 22° 4 4z + k , write the value

of k.

o Watch Video Solution

135. State Division algorithm for polynomials

o Watch Video Solution



https://dl.doubtnut.com/l/_glCdQYu7DPfS
https://dl.doubtnut.com/l/_YGCECZf1ssVU

136. Give an example of polynomials

f(z), g(x), g(z) and r(x) satisfying

f(z) = g(x)g(z) + r(x) , where degree

° Watch Video Solution

137. Write a quadratic polynomial, sum of

whose zeros is 24/3 and their product is 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_J8EQZK14Ml4T
https://dl.doubtnut.com/l/_7B44vF3vHaNG
https://dl.doubtnut.com/l/_vG0baqTwj4pE

138. If fourth degree polynomial is divided by a
quadratic polynomial, write the degree of the

remainder.

o Watch Video Solution

139.1f f(z) = x> + z° — ax + b is divisible by

x> — x write the values of ¢ and b .

° Watch Video Solution



https://dl.doubtnut.com/l/_vG0baqTwj4pE
https://dl.doubtnut.com/l/_9107fpwSCgzI

140. If a — b, a and a + b are zeros of the
polynomial  f(z) = 2z° — 6z* + 5z — 7

write the value of a .

o Watch Video Solution

141. Write the coefficients of the polynomial

p(z) = 2° — 22 + 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_G4TdtUxaimdq
https://dl.doubtnut.com/l/_AxBZWiReNdf4

142. Write the zeros of the polynomial

> —r —6.

o Watch Video Solution

143. If (zx+a) is a factor of

2w2+2aaz—i—5x—|—10,ﬁnda.

o Watch Video Solution



https://dl.doubtnut.com/l/_NqhKinnwhsF9
https://dl.doubtnut.com/l/_XjhWW7AhbB5j

144. For what value of k, if — 4is a zero of

the polynomial > — z — (2k + 2) ?

o Watch Video Solution

145. If 1 is a zero of the polynomial
p(z) = az® — 3(a — 1)z — 1, then find the

value of a .

o Watch Video Solution



https://dl.doubtnut.com/l/_ZQXis4sVjEZz
https://dl.doubtnut.com/l/_hcj37VUCOk0I

146. If a, [ are the zeros of the polynomial
suchthata + 8 = —6and af = — 4, then

write the polynomial.

o Watch Video Solution

147. If o, B are the zeros of the polynomial

2y? + Ty + 5, write the value of a + 8 + a8

° Watch Video Solution



https://dl.doubtnut.com/l/_MAGQK6AN8xht
https://dl.doubtnut.com/l/_0qaFExV3rBVL

148. For what value of k , is 3 a zero of the

polynomial 2z + z 4 k ?

o Watch Video Solution

149. For what value of k£, is —3 a zero of the

polynomial z? + 11z + k

o Watch Video Solution



https://dl.doubtnut.com/l/_fbPpVUrl6ya0
https://dl.doubtnut.com/l/_7Q3jdNBdJ0jj

150. If a quadratic polynomial f(x) is
factorizable into linear distinct factors, then

what is the total number of real and distinct

zeros of f(x) ?

° Watch Video Solution

151. If a quadratic polynomial f(x) is a square

of a linear polynomial, then its two zeroes are

coincident. (True / False)

° Watch Video Solution



https://dl.doubtnut.com/l/_pIhDlrIeXx9V
https://dl.doubtnut.com/l/_mEhgxy47j7jP

152. If a quadratic polynomial f(z) is not
factorizable into linear factors, then it has no

real zero. (True/false).

° Watch Video Solution

153. If graph of quadratic polynomial
az® 4+ bz + ¢ cuts positive direction of y-axis,

then what is the sign of ¢ ?

° Watch Video Solution



https://dl.doubtnut.com/l/_mEhgxy47j7jP
https://dl.doubtnut.com/l/_wZ3qATjaJGgB
https://dl.doubtnut.com/l/_iu7t7OQN0OAB

154. If the graph of quadratic polynomial
ax® + bx + c cuts negative direction of y-axis,

then what is the sign of ¢ ?

o Watch Video Solution

155. If a, B are the zeros of the polynomial
flz) =2* + = + 1,th - =
)=z 4+ , then — 5

(a) 1

(b) —1


https://dl.doubtnut.com/l/_qzPsOLAKISAn
https://dl.doubtnut.com/l/_hAyLyltacNJM

()0

(d) None of these

° Watch Video Solution

156. If a, B are the zeros of the polynomial

1 1
p(z) = 4z + 3z + 7, then o 3 is equal

to



https://dl.doubtnut.com/l/_hAyLyltacNJM
https://dl.doubtnut.com/l/_LvPNyWgxoCCw

I &9 Watch Video Solution I

157. If one zero of the polynomial
f(z) = (K* +4)z® + 13z + 4k is reciprocal
of the other, then £k = (a) 2 (b) —2 (c) 1 (d)

—1

o Watch Video Solution

158. If the sum of the zeros of the polynomial
f(z) = 22% — 3kx® + 4z — 5 is 6, then the

valueof kis(a) 2(b)4 (c) —2(d) —4


https://dl.doubtnut.com/l/_LvPNyWgxoCCw
https://dl.doubtnut.com/l/_MFH4sdr4DDyR
https://dl.doubtnut.com/l/_LjbQkHmGDQ11

A. (a) 2

B. null

C. null

D. null

Answer: null

o Watch Video Solution

159.1f o and 8 are the zeros of the polynomial
f(z) =2*+pr+q , then a polynomial

having — and — as its =zeros is
o'


https://dl.doubtnut.com/l/_LjbQkHmGDQ11
https://dl.doubtnut.com/l/_1VTppC146cVC

° Watch Video Solution

160. If «, B are the zeros of polynomial
flz) =2* —p(z +1) —c : then
(@+1)(B+1) = (@c—1(b)1—-c(c)c(d)

1+ ¢

A. c-1


https://dl.doubtnut.com/l/_1VTppC146cVC
https://dl.doubtnut.com/l/_q6nRhFkXBQkG

B. null

C. null

D. null

Answer: null

o Watch Video Solution

161. If o, B are the zeros of the polynomial
fz) =2 —p(z+1) —c such that
(a+1)(B+1) =0,thenc= (a)1(b) O (c)

—1(d) 2


https://dl.doubtnut.com/l/_q6nRhFkXBQkG
https://dl.doubtnut.com/l/_wqmsI05lHItV

° Watch Video Solution

162. Figure 2.23 show the graph of the
polynomial f(x) = ax’ + bx + ¢ for which (a) a <
O,b>0andc>0(b)a<0O,b<0andc>0(c)a

<0O,b<0Oandc<0(d)a>0,b>0andc<O

o Watch Video Solution

163. Figure 2.23 shows the graph of the

polynomial f(z) = az® 4+ bz + ¢ for which


https://dl.doubtnut.com/l/_wqmsI05lHItV
https://dl.doubtnut.com/l/_S3WBI2paHvZ5
https://dl.doubtnut.com/l/_8KXu0zoJOzQI

(FIGURE) (a) a(0, b)0andc > 0 (b)
a<0,b<0andc>0 (c)
a <0, b<0Oandc<0 (d)

a>0,b>0andc<0

° Watch Video Solution

164. If the product of zeros of the polynomial
f(z) = ax® — 62% + 11z — 6 is 4, then a =

3b 3 2d 2
(3)5( )—E(C)g( )—g

° Watch Video Solution



https://dl.doubtnut.com/l/_8KXu0zoJOzQI
https://dl.doubtnut.com/l/_IiIAqmpHq4mR
https://dl.doubtnut.com/l/_JJdGURVeQdF8

165. If the product of two zeros of the
polynomial f(z) = 22° + 62* — 4z + 9 is 3,

then its third zero is (a) — (b) — = (c) (d)
9

2

o Watch Video Solution

166. If the polynomial f(z) = az® + bz — c is

divisible by the polynomial
5 1
g(z) =z —|—ba:—|—c,thenab:(a)1(b)z

1
() —1(d) =~

l ° Watch Video Solution


https://dl.doubtnut.com/l/_JJdGURVeQdF8
https://dl.doubtnut.com/l/_MnzYrIlND7dR

167. In Q. No 126, ¢ = (a) b (b) 2b (c) 2b* (d)

—2b

o Watch Video Solution

168. If one root of the polynomial

f(z) = 52* + 13z + k is reciprocal of the
1

other, then the value of k is (a) 0 (b) 5 (c) 8 (d)

6

° Watch Video Solution



https://dl.doubtnut.com/l/_MnzYrIlND7dR
https://dl.doubtnut.com/l/_yE4QU5glkxLu
https://dl.doubtnut.com/l/_E1l2jMS6REwt

169.If o, B, <y are the zeros of the polynomial

f(z) = ax® + bax* + cx + d : then

1 1 1 b c C C

A.b/d
B. null
C. null

D. null

Answer: null

l o Watch Video Solution


https://dl.doubtnut.com/l/_E1l2jMS6REwt
https://dl.doubtnut.com/l/_zdu7CVNlad99

170. If two of the zeros of the cubic polynomial
ax’® + bz? + cx + d are each equal to zero,

then the third zero is (a) (b) — (c) — 2 (d)
b

a

° Watch Video Solution

171. If two zeros of z° 4+ z* — 5z — 5 are /5
and — /5 , then its third zero is (a) 1 (b) —1

(c)2(d) —2



https://dl.doubtnut.com/l/_zdu7CVNlad99
https://dl.doubtnut.com/l/_SkPnU5zvyZO6
https://dl.doubtnut.com/l/_TyvPtqmVWVAm

Watch Video Solution

172. The product of the zeros of
T° 4+ 42% + T — 605 s (a)

—4(b)4(c)6(d) —6

o Watch Video Solution

173. What should be added to the polynomial
2 — 5z + 4 , so that 3 is the zero of the

resulting polynomial? (a) 1 (b) 2 (c) 4(d) 5

| €8 |


https://dl.doubtnut.com/l/_TyvPtqmVWVAm
https://dl.doubtnut.com/l/_b0TaKkXYjEfM
https://dl.doubtnut.com/l/_9zzmye5rnQnD

| ¥ Watch Video Solution J

174. What should be subtracted to the
polynomial 2 — 16z + 30 , so that 15 is the

zero of the resulting polynomial? (a) 30 (b) 14

(c) 15 (d) 16

O Watch Video Solution

175. A quadratic polynomial, the sum of whose
zeroes is 0 and one zero is 3, is (a) z° — 9 (b)

22 4+9@z?+3(d)z>-3


https://dl.doubtnut.com/l/_9zzmye5rnQnD
https://dl.doubtnut.com/l/_eOydhHRqo9sK
https://dl.doubtnut.com/l/_UVpGWqFfQxbT

A. x"2-9 .

B. null

C. null

D. null

Answer: null

o Watch Video Solution

176. If two zeroes of the polynomial
22+ 22 -9 —9 are 3 and —3 , then its

third zerois(a) —1(b) 1 (c) —9(d) 9


https://dl.doubtnut.com/l/_UVpGWqFfQxbT
https://dl.doubtnut.com/l/_8JnPofAkqRxT

° Watch Video Solution

177. If \/5 and —/5 are two zeros of the
polynomial 2° + 3z — 5z — 15 , then its

third zero is (a) 3 (b) —3(c) 5(d) —5

° Watch Video Solution

178. If = - 2 is a factor of =2 + ax + 2b and

a+b=4, then (@ a=1,b=3 (b)


https://dl.doubtnut.com/l/_8JnPofAkqRxT
https://dl.doubtnut.com/l/_4qmfLx1lNwov
https://dl.doubtnut.com/l/_FmphNg7IWUsH

° Watch Video Solution

179. The polynomial which when divided by
—x® 4+ 2 —1 gives a quotient  — 2 and
remainder 3, is (a) z° —3z° +3z —5 (b)
2> —32° -3z —5 () —2°+32° -3z +5

(d)z® — 322 -3z +5

° Watch Video Solution



https://dl.doubtnut.com/l/_FmphNg7IWUsH
https://dl.doubtnut.com/l/_hX3xQLvLubjA




